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931 824 (NP)

2020
SCIENCE
( English Version )

Time : 3 Hrs 15 mins. ] [ Full Marks : 70
Note: First 15 minutes are allotted for the

candidates to read the question

paper.
Instructions :

(i} - This question paper is divided into three
arts, A, Band C.

(ii) Iirst question of each part is multiple -

choice type. Four alternative answers are
given in each. Select the correct answer

and write down in your answer-book.

XX1I667 - [ Turn ovey

824 (NP) 2

(iii) Attempt all the questions of each .part
together at one place. Each part shoylg
be attempted on a new page,

(iv) All qucstions are compulsory,

(v} Marks of the questions are mentioneq

against them.

(vi) IMustrate your answers with neat and
labelled  diagrams and chemical

equations wherever necessary.

PART - A

. 1. a) The magnification of a virtual image

of an object placed at distance 0-2 m
~ from a lens is 0'5. The lens will be

Jy~ concave lens of focal length

Olm

iij concave lens of focal length
02 m

iii) convex lens of focal length

' 0-1m

iv] convex lens of focal length
0-2m. 1

XX1667
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e . s is
b) The refractive index of glas

maximum for

s#” red colour

ii) yellow colour

uﬁ( violet colour

iv) green colour. 1

c) How many joules are there in
1 kilowatt-hour ?
i) 3600
i) 36x10°
i) 36x10° |
iy23:6 % 10°. | .
d) A moving electron produces
i) electric field onlf
i) magnetic field only

_)iﬂ/électric and magnetic fields
both

[ Turn over

iv) nofield.. = 1.

824 (NP}

4

2. 1},}’ What type of image is formed by ,

;

convex mirror ? Write two practicg]

~ uses of convex mirror, 2

J))/What is hypermetropia or long

L

sightedness ? How is it removed ? 2

Calculate the magnifying power of a
lens of power + 20 dioptre, when the
image of an object is formed by the
lens at least distance of distinct
vision. - | 2
A candle is placed at 90 cm aﬁart
from a screen. Where should a

convex lens of focal length 20 cm be

. placed in between candle and the

'screen So that a real and diminished
image of the candle is formed.
distinctly on the screen ? 4

OR

XXI667
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What is Myopia or short

l - - d’
- sightedness ? What is its reason

__b]

L XXI667

Explain t.he‘ method for its

correction using labelled diagram. 4

~ The potential difference between the

ends of a wire is 1'5 volt. Energy of
15 joule is obtained when a current

is flowing through the -wire for

. 20 sec. Calculate the current flowing

through the wire. : 4
OR

How many bulbs of 25 watt each
can glow in a circuit of 250 -vrﬁ]t and

5 ampere fuse ? . 4

[ Turn over

824 (NP) 6

4. Explain the principle of Direct Current -

_ Dyna_mia and describe its working using

" alabelled diagram.

7
OR

Two bulbs, one with 100 watt aﬁd.

220 volt, the other one with 60 watt and

220 volt rating are joined in parallel with

220 volt supply line. Calculate the

current passing through the supply line.

- XX11667

7
PART - B

Which of the following is not strong

electrolyte ?

i} Ammonium chloride

ii) Sodium acetate

ili) . Hydrogen sulphide

iv) Potassium nitrate. 1
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Which of the following statements is
ncorrect for rieutral' solution ?
) The value of H + ion
concentration is ]O'Tmot,flil

i) The wvalue of OH™ ion

concentration is 10~ mol/lit
i) pH is zero

Ketonic group >C = O is present in

0
iy H-C—H
0
Il
n] CHS_ C— H
0.
, Il-
iii) * CHz— C—OH
e

[ Turn over

824 (NP)

6. a) Write down the LLU.P.A.C. names of

b).

8

the following :
- 0O

]
) CHz—=CH—C—OH
i) CH,C = CH.

1+1‘;

[

Write four uses of Mendeleel’s |

Periodic Table. 1,141,131

2 2 2 2

Differentiate between ethanol and
ethanoic acid on the basis of

physical and chemical properties. 2

Write chemical equation for
obtaining zinc metal from zinc

sulphide. _ 1+1

Write short notes on the fo}lowing P

-

1+1

ij Combustion reaction

| ii) Substitution reaction.

. Differentiate between metals and

non -metals. 2

Explain rusting of metals. - ’ 2
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E’{plain tetrahedral nature of carborl

“atom by taking the example of

saturated and unsaturated .

h}’dl‘ccarbon_s. 3
OR

Write short notes on the following :

1) Homologous series. 2
i) Oxidation reaction. 2
~iii) Addition reaction. 2
iv) Neutralisation reaction. 1
PART-C

According to Mendel, gen_otype of a

dwarf pea plant is

) TT ij) Tt

Mﬁt _ - qv) tT. | 1-

'- [ Turn over

824 (NP) 10

b) The branch of science which deals |
with the study of fossils is called
| Vl.)/ ﬁcoiogy |
ii)  Ethology
1iil) Palaeontology
iv) Biology. ' 1
Regulation of Goitre is carried out
by http://www . upboardonline.com
’ (:/ll/ thyroxine
il) adrenaline
iii) insulin
iv) oxytoxin. 1
d) Whici‘l one of the f(}llowing-
- mechanisms  occurs only

in

nimals ?
-.. L

" Hormonal control
: if] Re.spiration _
iii) Growth ; |
' WWEWOHS control. 1

XXI1667



10. a)

What products are obtained during.

- oxidation of glﬁcose ‘molecule by

b}-

- 11. a)

. XX11667

yeast in the absence of oxygen ? 2

What are the roles of acid in our

digestion ? Discuss. 2

Explain the conduction of water and

minerals in plants. 2

Despite the difference in shape, size -

and colour, all human beings are
placed in the same single species.

Explain the reagon. 4
OR

Write notes on the following :

i)  Natural selection. 2

ii) | Réﬂex action. . 2

| Turn over

12

b) Differentiate betwéen'_unisexual and .
bisexual flowers and ‘give one

example of each. . 2+ 2
OR

Define pollination. Name the various
types of pollination and describe any

one of them. : 1+1+2

2. What do you mean by Family Planning ?
Describe its various methods to control
population. | | _ 2+5

OR
Write notes on the following -
a) Plant hormones. o | 3

b) Ecosystem.

. 824 (NP) - 15,000





